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+ VESCNF (clauses: exactly 3 independent literals)
Jassignment that satisfies 37/8 of clauses

’ E ‘ How many does an assignment satisfy expected|y?

’ \4 ‘ Velause €, let Y, be a 0/1 variable: “is €; satisfied?”

| Y/'s expectation: E[Y;] = 7/8
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Jassignment with at least that number satisfied
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usv or (u, v)eE
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\_ €56, Instance: r

PUqI} = all
U=(V,E, Z, ¢ subsets of
¢: E-P[Z?] is define by {0..9-1)
A: E— P{[q]} thus 7

¢y, v) = {(1,J) | i=j mod q € Ay, V)}

* gapy~kCS6[S, 1] < gap,-qCS6,[S, 1]
q = (nk)®
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U=(V,E Z, ¢)

b: E-P[Z?] is define by

A: E- P{[q]} thus

. g@p'XEq, Q/Sl |S Np-h@wd oy, v) = {(.)) | i-] mod q & Ay, )}

+ Apply same CS6—IS reduction

9 disjoint 15 coye

* Consistent A & ﬂ_
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(med g) consistent

» vertexes partitioned into LS's of
fractional size <8/¢ - how many?

:
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M Triplets” -Unigue T
» For g=|X|%, can efficiently m

construct T:X—[gq] s.t. * T is unique for pairs

VXg,%2,%35,%4,%5,%, and for single
T(¢)*T(¢)*T(x¢s) = vertexes as well

T(¢4)* T(x5)+T(g) (med q)
< B msytorerd D

(mod q) =
{¢,up={v, w}
+ Incrementally assign
values to members of U

* T(x)=T(y) (mod q)
= X=Y
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‘Optimal cut 2

* PrlA(u)=A(v)]

» gap-Max-Cut[l-1.01g, 1-¢]
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PCP Theorem
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